
 

 

 

 

 

 

 

INSTALLATIONSSATS 
INSTALLATION KIT 

 

 

  

 

  För väggmonterad oljepump för tank.
  For wall mounted air operated oil pump with a tank suction attachment. 
  För pumpar: 22700, 22710, 22750 och 22760
  For pumps: 22700, 22710, 22750 och 22760

 

Pos Description 
 

1 Tryckluftberedare / Air treatment unit
2 Gummi-stålbricka / Rubber steel washer 1/4”
3 Luftslang / Air hose 1500mm, 1/4”
4 Gummi-stålbricka / Rubber steel washer 3/4”
 5  Gummi-stålbricka / Rubber steel washer GB
 6  Utloppsslang / Outlet hose 1500mm, 3/4”
 7  Sugslang, sugrör / Suction hose, suct
 8  Väggfäste / Wall bracket 

Art nr 99629
Datum 11/01/2014

För väggmonterad oljepump för tank. 
For wall mounted air operated oil pump with a tank suction attachment. 
För pumpar: 22700, 22710, 22750 och 22760 

pumps: 22700, 22710, 22750 och 22760  = Tätningsmedel / sealing

Quantity 

Tryckluftberedare / Air treatment unit 1 
stålbricka / Rubber steel washer 1/4” 2 

Luftslang / Air hose 1500mm, 1/4” 1 
/ Rubber steel washer 3/4” 2 

ricka / Rubber steel washer GB-R1  2 
Utloppsslang / Outlet hose 1500mm, 3/4”  1 
Sugslang, sugrör / Suction hose, suction tube 2000mm, 1700mm  1 

 1 

99629 

Datum 11/01/2014 

For wall mounted air operated oil pump with a tank suction attachment.  

= Tätningsmedel / sealing 

Part No 
 

Remark 
 

42103  
10103529  
48001  
10103544  
 10103517  
 28079  
 28311  
 28524  


